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0 k · · · 0
...

...
. . .
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A.A!B Ú�=��u§�=��Ú.=(A+B)T = AT +B 9776 Tf 5.978 0 Td [(�)]TJ/F90 5.9776 Tf 5(=)]. 1 0 0 cm
4 0 Td [73.959 Td [(T)]TJ/F15 10.9091 Tf 6.822 -3.1Td [(B)]TJ/FBk]TJ/F88 10.4608 Tf 1Tf 1243 -6.973 Td [(�F93 10.4608 Tf 12.246 0 Td [(!)]TJ/FJ/F95 10.4608 Tf 8188 0 Td [({)]TJ
1 g 1F15 10.9091 Tf 10.461 0 Td [10033)]TJ/F134 10.4608 Tf 10.461 0 Td [(=)]TJ/F82 10.4608 Tf 10.461 0 Td [(�)]TJ/F83 10.4608 Tf 10461 0 Td [(�)]TJ/F92 10.4608 Tf 10.46 0 Td [(u)]TJ/F88 10.4608 Tf 10.4611 0 Td [(§)]TF39 10.4608 Tf 6.023 0 Td [(´)]TJ8 10.4608 Tf 19..2963 -6.973 Td [(�F93 10.4608 Tf 12.246 0 Td [(!)]TJ/FF104 10.4608 Tf 118188 0 Td [�)]TJ/F83 10.4608 Tf 10.461 0 Td [(�)]TJ/F92 10.4608 Tf 10461 0 Td [(Ú)]TJ/F90 10.4608 Tf 10.461 0 Td [
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�
1 37.7 -8.0
770.4608 Tf 1308 Tf 130Td [(1)-913(37.7 -8.0
77.7 -88.0
770.C23)]TJ/F102 10.4608 Tf 1190991 Tf 10.46 0 Td [(A)]TJ/F15 10.9091 Tf 11.213 0 Td [(=)]TJ/F111 10.4608 Tf 11.515 14.862 Td [(�)]TJ/F15 10.9091 Tf 7.7 -8.07 Td [(1)-913(2)]TJ 0 -13.549 Td [(3)-913(4)]TJ/F111 10.4608 Tf 20.872 21.619 Td [(D.959 Td [(2015)]TJ/F15 103647 -14.862 Td [(¶)]TJ/F15 10.9091 Tf 17.733 0 Td [(B.)]TJ/F111 10.4608 Tf 10.758 14.862 Td [(�)]TJ/F15 10.9091 Tf 7.7 -8.07 Td [(1)-91J/F102 10.4608 T Td [(3)-913(4)]T. 
Q 
1 g 1 G
1 0 0 1 -60.093 -21580.81 g 0d [(�)]TJ
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
ET
1 0 0 1 60.093 245.333)]TJ
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
0 g 0 G
ET
1 0 0 1 60.093 245.333

B. 10.47 1
0 g 0 AB1 2
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a11 a12 · · · a1n

0 a22 · · · a2n

...
...

. . .
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®�f(x) = x2 − 3x+ 5§A =
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a 0
0 b

�
§Kf(A) =
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a2 − 3a+ 5 5

5 b2 − 3b+ 5

�
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a2 − 3a+ 5 a2 − 3a
b2 − 3b b2 − 3b+ 5

�
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�
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�
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ÏLé¢�<�6Ä�cÝN�§uyzcà~Ø¬�20%£
Ø¢	§
¢	Ø¬�10%6\à~. �<�oêm �±Ø
C§N�Ð©¢	<�èx0 §à~<�èy0 §P1k c��¢
	<�èxk §à~<�èyk §15c��¢	!à~<�©O

èx5 !y5 §K

�
x5

y5

�
�Ý
$�L«è

A.

�
0.9 0.2
0.1 0.8

��
x0

y0

�
¶ B.

�
5× 0.9 5× 0.2
5× 0.1 5× 0.8

��
x0

y0

�
¶
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�
0.95 0.25

0.15 0.85

��
x0

y0

�
¶ D.

�
0.9 0.2
0.1 0.8

�5 �
x0

y0

�
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·��x«7�Æ)Ý±"k£[Ú3�ü«ÀJ.ÚOêâ
w«§�±"£[�Æ)¥§e±"£[�Ó 2
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§�±"3

��Æ)¥§e±"3��Ó 1
5

.emÆ11±±"kx1  �
x«7�Æ)ÀJ£[§ky1  �x«7�Æ)ÀJ3�§
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0BB@
x1

x2

x3

x4

1CCA§
b =

0@b1b2
b3

1A§BTL«Ý
B�=�Ý
§y�ÑXe�ªµ

�XA = b§�AX = b §�XTAT = bT §�ATXT = bT§
Kþão�$�ª¥U�(L«�5ê§|8<:

a11x1 + a12x2 + a13x3 + a14x4 = b1
a21x1 + a22x2 + a23x3 + a24x4 = b2
a31x1 + a32x2 + a33x3 + a34x4 = b3

�´

A.�Ú�¶ B.�Ú�¶ C.�Ú�¶ D.�Ú�.
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B.P (3(−1), 1)P (3(1), 2)P (2(1), 2) ¶
C.P (3(1), 2)P (2(1), 2)P (3(−1), 1) ¶
D. P (3(−1), 1)P (2(1), 2)P (3(1), 2) .
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27

�A´��3�ê
§�A�1 =

0@1 1 0
0 1 1
0 0 1

1A§K(2A)�1 =

A.

0@1 2 1
0 1 2
0 0 1

1A ¶ B.

0@2 4 2
0 2 4
0 0 2

1A ¶
C.

0@ 1
2

1
2

0
0 1

2
1
2

0 0 1
2

1A¶ D.

0@ 1
2

1 1
2

0 1
2

1
0 0 1

2

1A .

28

�A =

�
1 1
−1 0

�
§B =

�
a b
0 1

�
Ñ´�êÝ
§�A+BØ�

_§Ka+ b =
A.−2 ¶ B.−1 ¶ C.1 ¶ D. 2 .
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29

�A =

0@3 0 1
1 3 0
0 0 3

1A§�Ý
B÷vAB = A+ 2B§KB =

A.

0@3 0 1
1 3 0
0 0 3

1A¶ B.

0@3 0 2
2 3 0
0 0 3

1A ¶
C.

0@ 3 0 −2
−2 3 −2
0 0 3

1A ¶ D.

0@ 3 0 −2
−2 3 2
0 0 3

1A .
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30

�A �B þè3�ê
§C = 3I + P (3(1), 1) §Ù¥I ´3�ü
 Ý
§P (3(1), 1) ´��3�Ð�Ý
.e2A�1B = B − C §

�B =

0
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Thank you!
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